INCLUSION RELATIONSHIPS FOR CERTAIN SUBCLASSES OF MEROMORPHIC FUNCTIONS ASSOCIATED WITH A FAMILY OF MULTIPLIER TRANSFORMATIONS AND HYPEGEOMETRIC FUNCTIONS

H. E. DARWISH

ABSTRACT. The purpose of the present article is to introduce several new subclasses of meromorphic functions defined by using the multiplier transformation and hypergeometric function and investigate various inclusion relationships for these subclasses. Some interesting applications involving a certain class of hypergeometric functions are also considered.

2000 Mathematics Subject Classification: 30C45.

1. INTRODUCTION

Let M denote the class of functions of the form:

$$f(z) = \frac{1}{z} + \sum_{k=0}^{\infty} a_k z^k , \qquad (1.1)$$

which are analytic in the punctured open unit disc $U^* = \{z : z \in C \text{ and } 0 < |z| < 1\} = U/\{0\}$. Given two parameters η and β ($0 \le \eta, \beta < 1$), we denote by $MS(\eta)$, $MK(\eta)$ and $MC(\eta, \beta)$ the subclasses of M consisting of all meromorphic functions which are, respectively, starlike of order η in U, convex of order η in U, and close-to-convex of order β and type η in U, see, for details, refs. [7, 10, 12, 17].

Let N^* be the class of all functions φ which are analytic and univalent in U and for which $\varphi(U)$ is convex with

$$\varphi(0) = 1$$
 and $\operatorname{Re} \{\varphi(z)\} > 0$ $(z \in U)$.

For functions f and g analytic in $U = U^* \cup \{0\}$, we say that f is subordinate to g, and write

$$f \prec g$$
 in U or $f(z) \prec g(z)$ $(z \in U)$,

if there exists a Schwarz function w(z), which (by definition) is analytic in U with w(0) = 0 and |w(z)| < 1 ($z \in U$), such that f(z) = g(w(z)), ($z \in U$). It is known that

$$f(z) \prec g(z) \quad (z \in U) \Rightarrow f(0) = g(0) \text{ and } f(U) \subset g(U) .$$

Furthermore, if the function g is univalent in U, then [see, e.g., 12, p. 4]

$$f(z) \prec g(z) \ (z \in U) \Leftrightarrow f(0) = g(0) \text{ and } f(U) \subset g(U)$$
.

Making use of the principle of subordination between analytic functions, we introduce the subclasses $MS(\eta;\varphi)$, $MK(\eta;\varphi)$, and $MC(\eta,\beta;\varphi,\psi)$ of the class M for $0 \leq \eta$, $\beta < 1$ and for $\varphi, \psi \in N^*$, which are defined by

$$MS(\eta;\varphi) := \left\{ f: f \in M \text{ and } \frac{1}{1-\eta} \left(-\frac{zf'(z)}{f(z)} - \eta \right) \prec \varphi(z), \quad (z \in U) \right\} ,$$
$$MK(\eta;\varphi) := \left\{ f: f \in M \text{ and } \frac{1}{1-\eta} \left(-\left[1 + \frac{zf''(z)}{f'(z)} \right] - \eta \right) \prec \varphi(z), \quad (z \in U) \right\} ,$$

and

$$\begin{split} MC(\eta,\beta;\varphi,\psi) &:= \left\{ f: f \in M \text{ and } \exists \ g \in MS(\eta;\varphi) : \\ & \frac{1}{1-\beta} \left(-\frac{zf'(z)}{g(z)} - \beta \right) \prec \psi(z), \ (z \in U) \right\} \ , \end{split}$$

respectively, we note the classes mentioned above contain various subclasses of meromorphic functions for special choices for the functions φ and ψ (as well as for special choices for the parameters η and β) involved in these definitions (see [1,6,16]).

For $n \in N_0 := N \cup \{0\}$, $N = \{1, 2, 3, ...\}$, we define the multiplier transformation D^n_{λ} of functions $f \in M$ by

$$D_{\lambda}^{n}f(z) = \frac{1}{z} + \sum_{k=0}^{\infty} \left(\frac{k+1+\lambda}{\lambda}\right)^{n} a_{k}z^{k} \quad (\lambda > 0, z \in U^{*}) .$$

Obviously, we have

$$D^m_{\lambda}(D^n_{\lambda}f(z)) = D^{m+n}_{\lambda}f(z) \qquad (m, n \in N_0; \lambda > 0) .$$

The multiplier transformations D_{λ}^{n} and D_{1}^{n} were considered ealier by Sarangi and Uralegaddi [15] and Uralegaddi and Somanatha [18, 19], respectively.

Put

$$f_n(z) = \frac{1}{z} + \sum_{k=0}^{\infty} \left(\frac{k+1+\lambda}{\lambda}\right)^n z^k \qquad (n \in N_0; \lambda > 0) \ .$$

Define the familiar Gaussian hypergeometric function $_2F_1(a, b, c; z)$ by

$${}_{2}F_{1}(a,b,c;z) := \sum_{k=0}^{\infty} \frac{(a)_{k}(b)_{k}}{(c)_{k} k!} z^{k} \quad (a,b>0,c\neq 0,-1,...,z\in U) ,$$

where $(x)_k$ is the Pochhammer symbol defined by

$$(x)_k = \begin{cases} 1 & \text{if } k = 0\\ x(x+1)\dots(x+k-1) & \text{if } k \in N_0 = \{1, 2, \dots\}. \end{cases}$$

Let $f_n^{-1}(z)$ be defined such that

$$f_n(z) * f_n^{-1}(z) = \frac{1}{z} {}_2F_1(a, b, c; z)$$
.

Then we introduce an integral operator $I^n_{\lambda}(a, b, c) : M \to M$ as follows:

$$I_{\lambda}^{n}(a,b,c)f = f_{n}^{-1}(z) * f(z) .$$
(1.2)

We note that

$$I_{\lambda}^{0}(1,2,1)f(z) = zf'(z) + 2f(z)$$
 and $I_{1}^{1}(1,2,1)f(z) = f(z)$.

It is easily verified from the above definition of the operator $I^n_{\lambda}(a, b, c)$ that

$$z\left(I_{\lambda}^{n+1}(a,b,c)f(z)\right)' = \lambda I_{\lambda}^{n}(a,b,c)f(z) - (\lambda+1)I_{\lambda}^{n+1}(a,b,c)f(z)$$
(1.3)

and

$$z\left(I_{\lambda}^{n}(a,b,c)f(z)\right)' = aI_{\lambda}^{n}(a+1,b,c)f(z) - (a+1)I_{\lambda}^{n}(a,b,c)f(z) .$$
(1.4)

The definition (1.2) of the multiplier transformation $I^n_{\lambda}(1, \mu - 1, 1) = I^n_{\lambda,M}[3]$, is motivated essentially by the Choi-Saigo-Srivastava operator [4], for analytic functions (see also ref. [2]), which includes a simpler integral operator considered earlier by Noor [13] and others (cf. [8], [9], [14]).

By using the integral operator $I_{\lambda}^{n}(a, b, c)f$, we introduce the following subclasses of meromorphic functions:

$$MS^n_{\lambda}(a,b,c;\eta;\varphi) := \{f: f \in M \text{ and } I^n_{\lambda}(a,b,c) f \in MS(\eta,\varphi)\}$$

$$MK^n_{\lambda}(a, b, c; \eta; \varphi) := \{ f : f \in M \text{ and } I^n_{\lambda}(a, b, c) f \in MK(\eta, \varphi) \} ,$$

and

$$MC^n_\lambda(a,b,c;\eta,\beta;\varphi,\psi) := \{f: f \in M \text{ and } I^n_\lambda(a,b,c) f \in MC(\eta,\beta,\varphi,\psi)\}$$
.

We note that

$$f(z) \in MK^n_{\lambda}(a, b, c; \eta; \varphi) \Rightarrow -zf'(z) \in MS^n_{\lambda}(a, b, c; \eta; \varphi) .$$
(1.5)

In particular, we set

$$MS_{\lambda}^{n}\left(\eta; \frac{1+Az}{1+Bz}\right) = MS_{\lambda}^{n}(\eta; A, B) \quad (-1 < B < A \le 1)$$

$$(1.6)$$

and

$$MK_{\lambda}^{n}\left(\eta; \frac{1+Az}{1+Bz}\right) =: MK_{\lambda}^{n}(\eta; A, B) \quad (-1 < B < A \le 1) .$$
 (1.7)

The main object of this article is to investigate several properties of the classes $MS^n_{\lambda}(a, b, c; \eta, \varphi)$, $MK^n_{\lambda}(a, b, c; \eta, \varphi)$ and $MC^n_{\lambda}(a, b, c, \eta, \varphi)$ associated with the operator $I^n_{\lambda}(a, b, c)$ defined by (1.2). Some applications involving integral operator are also considered.

2. Inclusion properties involving the operator $I^n_{\lambda}(a,b,c)$

The following results will be required in our investigation.

Lemma 1. [5] Let φ be convex univalent in U with $\varphi(0) = 1$ and Re { $\gamma \varphi(z) + w$ } > 0 ($z \in U, \gamma, w \in C$). If p is analytic in U with p(0) = 1, then the subordinations:

$$p(z) + \frac{zp'(z)}{\gamma p(z) + w} \prec \varphi(z) \qquad (z \in U)$$

implies that

$$p(z) \prec \varphi(z) \qquad (z \in U) \;.$$

Lemma 2. [11] Let φ be convex univalent in U and w be analytic in U with

$$\operatorname{Re}\left\{w(z)\right\} \ge 0 \qquad (z \in U) \ .$$

If p is analytic in U and $p(0) = \varphi(0)$, then the subordination:

$$p(z) + w(z)zp'(z) \prec \varphi(z) \qquad (z \in U)$$

implies that

$$p(z) \prec \varphi(z) \qquad (z \in U) \; .$$

First of all, with the help of Lemma 1, we obtain the following inclusion relationships.

Theorem 1. Let $\varphi \in N^*$ with $\max_{z \in U} \operatorname{Re} \{\varphi(z)\} < \min\left(\frac{a+1-\eta}{1-\eta}, \frac{\lambda+1-\eta}{1-\eta}\right)$ $(a, \lambda > 0; 0 \le \eta < 1)$. Then

$$MS^n_{\lambda}(a+1,b,c;\eta;\varphi) \subset MS^n_{\lambda}(a,b,c;\eta;\varphi) \subset MS^{n+1}_{\lambda}(a,b,c;\eta;\varphi) .$$

Proof. To prove the first part of Theorem 1, let $f \in MS^n_{\lambda}(a+1,b,c;\eta;\varphi)$ and set

$$p(z) = \frac{1}{1 - \eta} \left(-\frac{z \left(I_{\lambda}^{n}(a, b, c) f(z) \right)'}{I_{\lambda}^{n}(a, b, c) f(z)} - \eta \right)$$
(2.1)

where $p(z) = 1 + \gamma_1 z + \gamma_2 z^2 + \dots$ is analytic in U and p(0) = 1 for all $z \in U$. Applying (1.4) in (2.1), we obtain

$$-a\frac{I_{\lambda}^{n}(a+1,b,c)f(z)}{I_{\lambda}^{n}(a,b,c)f(z)} = (1-\eta)p(z) - (a+1-\eta) .$$
(2.2)

By using the logarithmic differentiation on both side of (2.2), we have

$$\frac{1}{1-\eta} \left(-\frac{z \left(I_{\lambda}^{n}(a+1,b,c)f(z) \right)'}{I_{\lambda}^{n}(a+1,b,c)f(z)} - \eta \right) = p(z) + \frac{z p'(z)}{a+1-\eta - (1-\eta)p(z)}$$
(2.3)

Since

$$\max_{z\in U}\operatorname{Re}\left\{\varphi(z)\right\} < \frac{a+1-\eta}{1-\eta} \quad \left(z\in U, 0\leq \eta<1, a>0\right)\,,$$

we see that

Re
$$\{a + 1 - \eta - (1 - \eta)\varphi(z)\} > 0$$
 $(z \in U)$

Applying Lemma 1 to equation (2.3), it follows that $p \prec \varphi$ in U, that is,

$$f \in MS^n_\lambda(a, b, c, \eta; \varphi)$$

To prove the second inclusion relationship asserted by Theorem 1, let

$$f \in MS^n_\lambda(a, b, c, \eta, \varphi)$$

and put

$$q(z) = \frac{1}{1 - \eta} \left(-\frac{z \left(I_{\lambda}^{n+1}(a, b, c) f(z) \right)'}{I_{\lambda}^{n+1}(a, b, c) f(z)} - \eta \right) ,$$

where the function q(z) is analytic in U with q(0) = 1. Then, by using arguments similar to those detailed above with (1.3), it follows that $q \prec \varphi$ in U, which implies that

$$f \in MS^{n+1}_{\lambda}(a,b,c,\eta,\varphi)$$
.

Thus, we have completed the proof of Theorem 1.

Theorem 2. Let $\varphi \in N^*$ with

$$\max_{z \in U} \operatorname{Re} \left\{ \varphi(z) \right\} < \min \left(\frac{a+1-\eta}{1-\eta}, \frac{\lambda+1-\eta}{1-\eta} \right) \quad (a, \lambda > 0, 0 \le \eta < 1) \ .$$

Then

$$MK^n_{\lambda}(a+1,b,c;\eta;\varphi) \subset MK^n_{\lambda}(a,b,c;\eta;\varphi) \subset MK^{n+1}_{\lambda}(a,b,c;\eta;\varphi) .$$

Proof. Applying equation (1.5) and Theorem 1, we observe that

$$f(z) \in MK_{\lambda}^{n}(a+1,b,c;\eta;\varphi) \Leftrightarrow I_{\lambda}^{n}(a+1,b,c) \in MK(\eta,\varphi)$$

$$\begin{array}{ll} \Leftrightarrow & -z\left(I_{\lambda}^{n}(a+1,b,c)f\right)' \in MS(\eta,\varphi) \\ \Leftrightarrow & I_{\lambda}^{n}(a+1,b,c)(-zf^{'}(z)) \in MS(\eta,\varphi) \\ \Leftrightarrow & -zf^{'}(z) \in MS_{\lambda}^{n}(a+1,b,c,\eta,\varphi) \\ \Rightarrow & -zf^{'}(z) \in MS_{\lambda}^{n}(a,b,c,\eta,\varphi) \\ \Leftrightarrow & I_{\lambda}^{n}(a,b,c)(-zf^{'}(z)) \in MS(\eta,\varphi) \\ \Leftrightarrow & -z(I_{\lambda}^{n}(a,b,c)f(z))^{'} \in MS(\eta,\varphi) \\ \Leftrightarrow & f_{\lambda}^{n}(a,b,c)f(z) \in MK(\eta,\varphi) \\ \Leftrightarrow & f(z) \in MK_{\lambda}^{n}(a,b,c;\eta;\varphi) \end{array}$$

and

$$f(z) \in MK_{\lambda}^{n}(a, b, c; \eta; \varphi) \Leftrightarrow -zf'(z) \in MS_{\lambda}^{n}(a, b, c; \eta; \varphi)$$

$$\begin{array}{l} \Rightarrow & -zf'(z) \in MS_{\lambda}^{n+1}(a,b,c;\eta;\varphi) \\ \Leftrightarrow & -z(I_{\lambda}^{n+1}(a,b,c)f(z))' \in MS(\eta,\varphi) \\ \Leftrightarrow & I_{\lambda}^{n+1}(a,b,c)f(z) \in MK(\eta,\varphi) \\ \Leftrightarrow & f(z) \in MK_{\lambda}^{n+1}(a,b,c;\eta;\varphi), \end{array}$$

which evidently prove Theorem 2.

By setting

$$\varphi(z) = \frac{1+Az}{1+Bz}$$
 $(-1 < B < A \le 1; z \in U)$

in Theorem 1 and 2, we deduce the following consequences.

Corollary 1. Suppose that

$$\frac{1+A}{1+B} < \min\left(\frac{a+1-\eta}{1-\eta}, \frac{\lambda+1-\eta}{1-\eta}\right) \quad (a, \lambda > 0; 0 \le \eta < 1; -1 < B < A \le 1) \ .$$

Then, for the function classes defined by equations (1.6) and (1.7),

$$MS^n_{\lambda}(a+1,b,c;\eta;A,B) \subset MS^n_{\lambda}(a,b,c;\eta;A,B) \subset MS^{n+1}_{\lambda}(a,b,c;\eta;A,B) ,$$

and

$$MK_{\lambda}^{n}(a+1,b,c;\eta;A,B) \subset MK_{\lambda}^{n}(a,b,c;\eta;A,B) \subset MK_{\lambda}^{n+1}(a,b,c;\eta;A,B) .$$

Next, by using Lemma 2, we obtain the following inclusion relationships for the class $MC^n_{\lambda}(a, b, c; \eta; \beta; \varphi, \psi)$.

Theorem 3. Let $\varphi, \psi \in N^*$ with

$$\max_{z \in U} \left(\operatorname{Re} \left\{ \varphi(z) \right\} \right) < \min \left(\frac{a+1-\eta}{1-\eta}, \frac{\lambda+1-\eta}{1-\eta} \right) \quad (a, \lambda > 0, 0 \le \eta < 1) \ .$$

Then

$$MC^n_{\lambda}(a+1,b,c;\eta,\beta;\varphi,\psi) \subset MC^n_{\lambda}(a,b,c;\eta,\beta;\varphi,\psi) \subset MC^{n+1}_{\lambda}(a,b,c;\eta,\beta;\varphi,\psi) \ .$$

Proof. We begin proving that

$$MC^n_{\lambda}(a+1,b,c;\eta,\beta;\varphi,\psi) \subset MC^n_{\lambda}(a,b,c;\eta,\beta;\varphi,\psi)$$

which is the first inclusion relationship asserted by Theorem 3. Let

$$f \in MC^n_\lambda(a+1, b, c; \eta; \beta, \varphi, \psi)$$
.

Then, in view of the definition of the function class $MC^n_{\lambda}(a+1, b, c; \eta, \beta; \varphi, \psi)$, there exists a function $r \in MS(\eta, \varphi)$, such that

$$\frac{1}{1-\beta} \left(-\frac{zI_{\lambda}^n(a+1,b,c)f(z))}{r(z)} - \beta \right) \prec \psi(z) \quad (z \in U) \ .$$

Choose the function g(z) such that

$$I_{\lambda}^{n}(a+1,b,c)g(z) = r(z) .$$

Then

$$g \in MC^n_{\lambda}(a+1,b,c,\eta;\varphi) \text{ and } \frac{1}{1-\beta} \left(-\frac{z(I^n_{\lambda}(a+1,b,c)f(z))'}{I^n_{\lambda}(a+1,b,c)g(z)} - \beta \right) \prec \psi(z) \quad (z \in U) .$$

$$(2.4)$$

Now let

$$p(z) = \frac{1}{1 - \beta} \left(-\frac{z(I_{\lambda}^{n}(a, b, c)f(z))'}{I_{\lambda}^{n}(a, b, c)g(z)} - \beta \right) , \qquad (2.5)$$

where the function p(z) is analytic in U with p(0) = 1. Using equation (1.4), we find that

$$\frac{1}{1-\beta} \left(-\frac{z(I_{\lambda}^{n}(a+1,b,c)f(z))'}{I_{\lambda}^{n}(a+1,b,c)g(z)} - \beta \right) \\
= \frac{1}{1-\beta} \left(\frac{I_{\lambda}^{n}(a+1,b,c)(-zf'(z))}{(I_{\lambda}^{n}(a+1,b,c)g(z))} - \beta \right) \\
= \frac{1}{1-\beta} \left(\frac{z(I_{\lambda}^{n}(a,b,c)(zf'(z))' + (a+1)I_{\lambda}^{n}(a,b,c)zf'(z)}{z(I_{\lambda}^{n}(a,b,c)g(z))' + (a+1)I_{\lambda}^{n}(a,b,c)g(z)} - \beta \right) \\
= \frac{1}{1-\beta} \left(\frac{\frac{z(I_{\lambda}^{n}(a,b,c)(zf'(z))'}{I_{\lambda}^{n}(a,b,c)g(z)} + (a+1)\frac{I_{\lambda}^{n}(a,b,c)(zf'(z))}{I_{\lambda}^{n}(a,b,c)g(z)}}{\frac{z(I_{\lambda}^{n}(a,b,c)g(z)'}{I_{\lambda}^{n}(a,b,c)g(z)} + a+1} - \beta \right).$$
(2.6)

Since

$$g\in MS^n_\lambda(a+1,b,c,\eta;\varphi)\subset MS^n_\lambda(a,b,c,\eta;\varphi)\ ,$$

by Theorem 1, we may set

$$q(z) = \frac{1}{1-\eta} \left(-\frac{z(I_{\lambda}^n(a,b,c)g(z))'}{I_{\lambda}^n(a,b,c)g(z)} - \eta \right) ,$$

where $q(z) \prec \varphi$ in U with the assumption that $\varphi \in N^*$. Then, by virtue of equation (2.5) and (2.6), we observe that

$$I_{\lambda}^{n}(a,b,c)(-zf'(z)) = (1-\beta)p(z)I_{\lambda}^{n}(a,b,c)g(z) + \beta I_{\lambda}^{n}(a,b,c)g(z)$$
(2.7)

and

$$\frac{1}{1-\beta} \left(-\frac{z(I_{\lambda}^{n}(a+1,b,c)f(z))'}{I_{\lambda}^{n}(a+1,b,c)f(z)} - \beta \right) \\
= \frac{1}{1-\beta} \left(\frac{z(I_{\lambda}^{n}(a,b,c)(-zf'(z))'/I_{\lambda}^{n}(a,b,c)g(z)+(a+1)[(1-\beta)p(z)+\beta]}{a+1-\eta-(1-\eta)q(z)} - \beta \right). \quad (2.8)$$

Upon differentiating both sides of equation (2.8), we have

$$\frac{z(I_{\lambda}^{n}(a,b,c)(-zf'(z)))'}{I_{\lambda}^{n}(a,b,c)g(z)} = (1-\beta)zp'(z) - [(1-\beta)p(z) + \beta][(1-\eta)q(z) + \eta] .$$
(2.9)

Now, making use of equations (2.4), (2.8), and (2.9), we get

$$\frac{1}{1-\beta} \left(-\frac{z(I_{\lambda}^{n}(a+1,b,c)f(z))'}{(I_{\lambda}^{n}(a+1,b,c)g(z))'} - \beta \right) = p(z) + \frac{zp'(z)}{a+1-\eta-(1-\eta)q(z)} \prec \psi(z) \quad (z \in U).$$
(2.10)

since a > 0 and $q \prec \varphi$ in U with

$$\max_{z \in U} \operatorname{Re} \left\{ \varphi(z) \right\} < \frac{a + 1 - \eta}{1 - \eta} ,$$

we have

Re {
$$a + 1 - \eta - (1 - \eta)q(z)$$
} > 0 $(z \in U)$. (2.11)

Hence, by taking

$$w(z) = \frac{1}{a+1-\eta - (1-\eta)q(z)}$$
(2.12)

in equation (2.10), and then applying Lemma 2, we can show that $p \prec \psi$ in U, so that

$$f \in MC^n_\lambda(a, b, c, \eta, \beta; \varphi, \psi)$$
.

For the second inclusion relationship asserted by Theorem 3, using arguments similar to those detailed above with equation (1.3), we obtain

$$MC^n_{\lambda}(a, b, c, \eta, \beta, \varphi, \psi) \subset MC^{n+1}_{\lambda}(a, b, c, \eta, \beta; \varphi, \psi)$$
.

We thus complete the proof of Theorem 3.

3. Inclusion properties involving the integral operator ${\cal F}_c$

In this section, we consider the integral operator F_c [see, e.g., ref. [11], pp. 11 and 389] defined by:

$$F_{\gamma}(f) = F_{\gamma}(f)(z) := \frac{\gamma}{z^{\gamma+1}} \int_{0}^{z} t^{\gamma} f(t) dt \qquad (f \in M; \gamma > 0) .$$
(3.1)

We first state and prove the following inclusion relationship for the integral operator $F_{\gamma}(\gamma > 0)$.

Theorem 4. Let $\varphi \in N^*$ with

$$\max_{z \in U} \left(\operatorname{Re} \left\{ \varphi(z) \right\} \right) < \frac{\gamma + 1 - \eta}{1 - \eta} \quad (\gamma > 0; 0 \le \eta < 1) \ .$$

If

$$f \in MS^n_\lambda(a, b, c, \eta; \varphi)$$
,

then

$$F_{\gamma}(f) \in MS^n_{\lambda}(a, b, c, \eta; \varphi)$$
.

Proof. Let

$$f \in MS^n_\lambda(a, b, c, \eta; \varphi)$$

and set

$$p(z) = \frac{1}{1 - \eta} \left(-\frac{z(I_{\lambda}^{n}(a, b, c)F_{\gamma}(z))'}{I_{\lambda}^{n}(a, b, c)F_{\gamma}(f)(z)} - \eta \right) , \qquad (3.2)$$

where the function p(z) is analytic in U with p(0) = 1. From the definition (3.1), it is easily verified that

$$z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(f)(z))' = \gamma I_{\lambda}^{n}(a,b,c)f(z) - (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(f)(z) .$$
(3.3)

Then, by using equations (3.2) and (3.3), we obtain

$$-\gamma \frac{I_{\lambda}^{n}(a,b,c)f(z)}{I_{\lambda}^{n}(a,b,c)F_{\gamma}(f)(z)} = (1-\eta)p(z) - (\gamma+1-\eta) .$$
(3.4)

Making use of the logarithmic differentiation on both sides of equation (3.4) and multiplying the resulting equation by z, we get

$$\frac{1}{1-\eta} \left(-\frac{z(I_{\lambda}^{n}(a,b,c)f(z))'}{I_{\lambda}^{n}(a,b,c)f(z)} - \eta \right) = p(z) + \frac{zp'(z)}{\gamma + 1 - \eta - (1-\eta)p(z)} \quad (z \in U) \ .$$

Hence, by virtue of Lemma 1, we conclude that $p\prec \varphi$ in U for

$$\max\left(\operatorname{Re}\left\{\varphi(z)\right\}\right) < \frac{\gamma + 1 - \eta}{1 - \eta} ,$$

which implies that

$$F_{\gamma}(f) \in MS^n_{\lambda}(a, b, c, \eta; \varphi)$$

Another inclusion relationship involving the integral operator F_{γ} ($\gamma > 0$) is given by Theorem 5 below.

Theorem 5. Let $\varphi \in N^*$ with

$$\max_{z \in U} \left\{ \operatorname{Re} \left(\varphi(z) \right) \right\} < \frac{\gamma + 1 - \eta}{1 - \eta} \quad (\gamma > 0; 0 \le \eta < 1) \ .$$

If

$$f \in MK^n_\lambda(a, b, c, \eta; \varphi)$$
,

then

$$F_{\gamma}(f) \in MK_{\lambda}^{n}(a, b, c, \eta; \varphi)$$
.

Proof. By applying Theorem 4, it follows that

$$\begin{split} f(z) \in MK_{\lambda}^{n}(a,b,c;\eta;\varphi) \Leftrightarrow -zf'(z) \in MS_{\lambda}^{n}(a,b,c,\eta;\varphi) \\ \Leftrightarrow \quad F_{\gamma}(-zf'(z)) \in MS_{\lambda}^{n}(a,b,c,\eta;\varphi) \\ \Leftrightarrow \quad -z(F_{\gamma}(f)(z))' \in MS_{\lambda}^{n}(a,b,c,\eta;\varphi) \\ \Leftrightarrow \quad F_{\gamma}(f)(z) \in MK_{\lambda}^{n}(a,b,c,\eta;\varphi) , \end{split}$$

which proves Theorem 5.

From Theorem 4 and 5, we can easily deduce Corollary 2 below.

Corollary 2. Suppose that

$$\frac{1+A}{1+B} < \frac{\gamma+1-\eta}{1-\eta} \quad (\gamma > 0; -1 < B < A \le 1, 0 \le \eta < 1) \ .$$

Then, for the function class defined by equation (1.3) and (1.4), the following inclusion relationship hold true:

$$f \in MS^n_{\lambda}(a, b, c, \eta; A, B) \Rightarrow F_{\gamma}(f) \in MS^n_{\lambda}(a, b, c, \eta; A, B)$$

and

$$f \in MK^n_\lambda(a, b, c, \eta; A, B) \Rightarrow F_\gamma(f) \in MK^n_\lambda(a, b, c, \eta; A, B)$$

Finally, we prove yet another inclusion relationship involving the integral operator F_{γ} ($\gamma > 0$) defined by equation (3.1).

Theorem 6. Let $\varphi, \psi \in N^*$ with

$$\max_{z \in U} \left\{ \operatorname{Re}\left(\varphi(z)\right) \right\} < \frac{\gamma + 1 - \eta}{1 - \eta} \quad (\gamma > 0; 0 \le \eta < 1)$$

 \mathbf{If}

 $f \in MC^n_\lambda(a, b, c, \eta, \beta; \varphi, \psi)$,

then

$$F_{\gamma}(f) \in MC^n_{\lambda}(a, b, c, \eta, \beta; \varphi, \psi)$$
.

Proof. Let

$$f \in MC^n_\lambda(a, b, c, \eta, \beta; \varphi, \psi)$$
.

Then, in view of the definition of the function class $MC^n_{\lambda}(a, b, c, \eta, \beta; \varphi, \psi)$, there exists a function $g \in MS^n_{\lambda}(a, b, c, \eta; \varphi)$ such that

$$\frac{1}{1-\beta} \left(-\frac{z(I_{\lambda}^{n}(a,b,c)f(z))'}{I_{\lambda}^{n}(a,b,c)g(z)} - \beta \right) \prec \psi(z) \quad (z \in U) .$$

$$(3.5)$$

Thus, we set

$$p(z) = \frac{1}{1-\beta} \left(-\frac{z(I_{\lambda}^n(a,b,c)F_{\gamma}(f)(z))'}{I_{\lambda}^n(a,b,c)F_{\gamma}(g)(z)} - \beta \right) ,$$

where the function p(z) is analytic in U with p(0) = 1. Applying equation (3.5), we get

$$\frac{1}{1-\beta} \left(-\frac{z(I_{\lambda}^{n}(a,b,c)f(z))'}{(I_{\lambda}^{n}(a,b,c)g(z))} - \beta \right) \\
= \frac{1}{1-\beta} \left(\frac{I_{\lambda}^{n}(a,b,c)(-zf'(z))}{(I_{\lambda}^{n}(a,b,c)g(z))} - \beta \right) \\
= \frac{1}{1-\beta} \left(\frac{z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(-zf'(z))(z))' + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(-zf'(z))(z)}{z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z))' + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z)} - \beta \right) \\
= \frac{1}{1-\beta} \left(\frac{z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(-zf'(z))(z))'/I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(-zf'(z))(z))'/I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z)}{z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z))'/I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z)}{z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z))'/I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z)}{z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z))'/I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z)}{z(I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z))'/I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F_{\gamma}(g)(z) + (\gamma+1)I_{\lambda}^{n}(a,b,c)F$$

Since $g \in MS^n_{\lambda}(a, b, c, \eta; \varphi)$, we see from Theorem 4 that

$$F_{\gamma}(g) \in MS_{\lambda}^{n}(a, b, c, \eta; \varphi)$$

Let us now put

$$q(z) = \frac{1}{1 - \eta} \left(-\frac{z(I_{\lambda}^{n}(a, b, c)F_{\gamma}(g)(z))'}{I_{\lambda}^{n}(a, b, c)F_{\gamma}(g)(z)} - \eta \right) , \qquad (3.7)$$

where $q \prec \varphi$ in U with the assumption that $\varphi \in N^*$. Then, by using the same techniques as in the proof of Theorem 3, we conclude from equations (3.5) and (3.6) that

$$\frac{1}{1-\beta} \left(-\frac{z(I_{\lambda}^{n}(a,b,c)f(z))'}{I_{\lambda}^{n}(a,b,c)g(z)} - \beta \right) = p(z) + \frac{zp'(z)}{\gamma + 1 - \eta - (1-\eta)q(z)} \prec \psi(z) \quad (z \in U) .$$
(3.8)

Hence, upon setting

$$w(z) = \frac{1}{\gamma + 1 - \eta - (1 - \eta)q(z)}$$

in equation (3.8), if we apply Lemma 2, we find that $p \prec \psi$ in U, which yields

$$F_{\gamma}(f) \in MC^n_{\lambda}(a, b, c, \eta, \beta, \varphi, \psi)$$
.

The proof of Theorem 6 is evidently completed.

Remark 1. (1) In their special cases, when n = 1, $\lambda = 1$, a = 1, b = 2 and c = 1, Theorem 4, 5 and 6 would provide extensions of the corresponding results given by Goel and Sohi [6], which reduce to those obtained earlier by Bajpai [1]. (2) When a = 1, $b = \mu$, c = 1, we get the results obtained by [3].

References

[1] S. K. Bajpai, A note on a class of meromorphic univalent functions, Revue Roumaine de Mathematiques Pures Et Appliquee 22(1977), 295-297.

[2] N. E. Cho, O. S. Kwon and H. M. Srivastava, Inclusion relationships and argument properties for certain subclasses of multivalent functions associated with a family of linear operators, J. Math. Anal. Appl., 242(2004), 470-488.

[3] N. E. Cho, O. S. Kwon and H. M. Srivastava, Inclusion relationships for certain subclasses of meromorphic functions associated with a family of multiplier transformations, Integral Transforms and Special Functions, vo. 16, no. 8(2005), , 647-659.

[4] J. H. Choi, M. Saigo and H. M. Srivastava, Some inclusion properties of a certain family of integral operators, J. Math. Anal. Appl. 276(2002), 432-445.

[5] P. Enigenberg, S. S. Miller, P. T. Mocanu, and M. O. Reade, On a Briot-Bouque differential subordination, General Inequalities, 3(Oberwolfach, 1981), International Series of Numerical Mathematics, vo. 64 (Basel:Birkhauser Verlag), pp. 339-348.

[6] R. M. Goel and N. S. Sohi, On a class of meromorphic functions, Glasnik Mathematicki Serija III, 17(37), (1982), 19-28.

[7] V. Kummar and S. L. Shukla, Certain integrals for classes of p-valent meromorphic functions, Bulletin of the Australian Math. Soc. 25(1982), 85-97.

[8] J. -L. Liu, The Noor integral and strongly starlike functions, J. Math. Anal. Appl. 261(2001), 441-447.

[9] J. -L. Liu and K. I. Noor, Some properties of Noor integral operator, J. Nat. Geom. 21(2002), 81-90.

[10] R. J. Libera and M. S. Robertson, Meromorphic close-to-convex functions, Michigan Math. J., 8(1961), 167-176.

[11] S. S. Miller and P. T. Mocanu, Differential subordinations and univalent functions, Michigan Math. J. 28(1981), 157-171.

[12] S. S. Miller and P. T. Mocanu, Differential Subordinations: Theory and Applications, (2000) Series on Monographs and Textbooks in Pure and Applied Math. (No. 225) (New York, Basel; Marcel Dekker).

[13] K. I. Noor, On new classes of integral operators, J. Nat. Geom., 16(1999), 71-80.

[14] K. I. Noor and M. A. Noor, On integral operators, J. Math. Anal. and Appl., 238(1999), 341-352.

[15] S. M. Sarangi and S. B. Uralegaddi, Certain differential operators for meromorphic functions, Bull. Calcu. Math. Soc. 88(1996), 333-336.

[16] R. Singh, Meromorphic close-to-convex functions, J. Indian Math. Soc. (New Ser.), 33(1996), 13-20.

[17] H. M. Srivastava and S. Owa, (Eds), Current Topics in Analytic Function Theory 1992 (Singapore, New Jersey, London, Hong Kong: World Scientific Publishing Company).

[18] B. A. Uralegaddi and C. Somanatha, New criteria for meromorphic starlike functions, Bull. Aust. Math. Soc. 43(1991), 137-140.

[19] B. A. Uralegaddi and C. Somanatha, Certain differential operators for meromorphic functions, Houston J. Math. 17(1991), 279-284.

H. E. Darwish

Department of Mathematics

Faculty of Science, Mansoura University,

Mansoura 35516, Egypt

E-mail: darwish333@yahoo.com